4
— 40
v ) Lo
4 Th 80min Minutes 5 | Hint: A number line is arranged in 61 (a).Comp =909 — 279
/'—\\‘\ 60+10=70 ascending order. = 63°
2, 70 70-40=230
B Jm o REEEEERIEETE Yol B D
1h 40m 3-1=2 (). Supp = 180° ~ 135
1h 30m -1 0>"1 and "5 <"1 are true statements = 45°
= 60min + 30min
= 90min — : e
7| Chairs = number of people 8| ="159 — (467 9 5
Jpeor ~"159~‘S£47) e <24 20 1
1 row = l4chairs = e 467 s B — e
43rows = (14 X 43)chairs ; 467 _ 159 40 40 2
= 602chairs = 308
= +11+13" 11 52 11 o e
W] =243+45+7411413 3.2km = (35 x 1000)) = 3200m | 2 = = X 800
67dm = (67 + 10) = 6.7m =1,760
234cm = (234 + 100) = 2.34m
=3200m+ 6.7 + 2.34m
= 3209.04m
13 7 141 = xB- 1)y(F - 3) 15 R~ i T aaamt e
=-—X 100 2.2
16 = x%y? - \\_4_/‘ o
=43.75% / \\\
rd .\\..‘._,_ R
16 Sirte S5cm 17| C=2nr 18|3x~5x=13-7
= 22 Dy =
1.5km =2X—X42cm ) ‘l‘x 6
5cm 7 2x _6
" (1.5 x 100,000)cm = 26dem 2 2
5 1 o =
~ 150,000 " 30,000 _ ——
19 I=P><T><i—:—:—6 20 __th A1V =xurin
= 22 ‘
30,600 = 170,000 x%xr‘g—o _ 8cm X 60m = o XT7emx7cm x 10¢m
30,600 12 x 100 _ . - 2 = 1,540¢m?
170,000x9 = 24cm?
24% =R g
22 LCD =21 23)12/4/6]10] =2x2x3x5 24 | Arca of square = Area of rectangle
2 [(Ex21)+((x21) 21235 =60seconds St=Lxw
=77 21 - | = (60 ~60jininutes §% = 16cm x 9emn
5 a1 31113,5 | = 1minutes o oy
= ( L S ._? The Wi” awg—sﬁ = 14“1’C7?l
7 21 5 oo ey wilal : PO Pt
_2.2 2 21 3 , again together after \/51 =/ 144cm?
T7T1 —"7-'X—E 13 1 1 minute S=12cm
25 (x+12 +13 + 15 =12.5 26 | =100% —10% 27 | x+(x+10)+2x -+ 3x = 180°(n -2y
' e ' =00y 7x+ 10 = 180°(4 - 2)
x +40 =90% .
’ =12.5 90 7x 4 10% = 180% x 2
4 3 s o v v
x+40=12.5x4 mx CP=4320 7x = 360° ~ 10
o — 7x 354v
x=50-40 4320 x 100 E
x=10 cp="2"1"0 '
3 ' 90 x =50°
CP = 4,800Frw (x +10) =50+ 10 = 60¢
2x=50x2 =100°
3x =50x3 =150
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.. 1wyear + 129 SObAL b E BT ERT e 30T o otalsw~ ets
e Co Lnyear : A-T+1B 'N_hx: One shm L
¢ P PxT xR ik ; rotal shares
10 Qty - {100} +[80 |= |180 60 sw. i3
90,000 x 1 x 12 —.Yiii(;#“
100 | : Pxlkg | 200 245 x 60 ’
I =10,800Frw = é—dsweets
. A =90,000F + 10, 800F (100 x 200) + (80 x 245) = (180 x x)
. . = Z sweets
= 100, 800Frw 20 000 + 19,600 = 180x :
st ] = = 27 ot
2 year F 39, 600 = 180x 17 Child =11 x 2 = 22 sweets
_P xlrgox R 139,600 180x o 2™ child = 10 x 2 = 20 sweets
] 100,800 x 1 x 12 180 180 . 3™ child =9 x 2 = 18 sweets
- 100 220 =x
= 12086 rw Therefore the cost per kg of
A=100,800F + 12,096F . . .
100 the mixture is 220F
=112,896Frw
31 | Teacher'sguidance 32 Part (a) 33 Part (a)
Hint: We can use proportions Hint: cross multiply
8cm® = 12¢g 7(2x~4) =3(x+9)
1emd = 1249 14x — 28 = 3x + 27,
Ly 14x —3x = 27 + 28
" (12g x 9cm?) 11x =55
3 _(
e = e 11x 55
=13.59 11~ 11
Part (b) i =5
=q P Part {b) .
6 .- 4. .. FMXMXM-—MXNXN+NXYXy
=2X2XZELX3IN3 4 IX T xS
1 14X6 : .
4)(6 = w 2_8‘}‘18‘}‘75
8 5 =3 =18~8+75
. . =10+ 75
X s . = 85 aggmge e S
. " 1 34 | Teacher'sguidance 35 Numerator : 36 | Rukundo = x
" - ZX_S_)(_S__Z) Karimba = (3 x x) = 3x
- ) 24/ \2 4
_(zxg\;(10-7) x+3x =20
AR YRl S 4x =20
_ (7 5) 3 4x 20
=2%3)*3 N s
7.5 4 =5 :
=5XgX 3 Ruloundo = S yeurs old
’ 35 Karimba = (3 x5) = 15)'75 uld
T 6
Denominator Insyearstime
=2.3+4.6 : ' Ruleundo =(5+5)=10yrs
23 46 Karimba = (15 + 5) = 20 yrs
;(3) 10 Number of times
1¢
= X = __ Kurimba's age
1 ‘ e : Rukundo sage
= -2-' } ) - 20 yT.S
[ Eeimon 10 yrs

. =2 times
= Numerator + Denominator :

= 35 - 1 ‘ Therefore Karimba will be

4 2 _ | twice (2 times)Rukundo's age
= il X - v | in5 years time,

6 1 )

35

37 | Teacher'sguidance

4
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